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Non-burnt earth block using unused earth resources of by-products and waste

Nakamura, Wataru
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For clayley and sandy by-products and wastes, the addition of magnesium
oxide, which has less environmental impact, was found to reduce shrinkage and improve compressive
strength.

Basedgon these results, it was confirmed that the previously published mix design method for the mix
proportion was effective for by-products and waste. In other words, if the percentage of fine
particles (especially fine particles of 75 p m or less) contained in the sample is known, it is
possible to find the target mix proportion for use as a earth block with respect to the target
formability (the relationship between the condition of the sample and the molding method),
shrinkage, and compressive strength.
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